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English

Task 8 6 Marks

Tick (v') the correct answers.

1) She have lots of coffee when she was studying.
A. going to
B. used to

C. must
D. should

1) Which of the following is the consonant?

CoOw>
O 3 @ o

1ii) Identify the sentence of present simple tense.

A. She always forgets her mobile.
B. She has forgotten her mobile.
C. She will forget her mobile.

D. She forgot her mobile.

Iv) Mark the question tag in the given statement.
That’s a nice juicy bundle of grass, isn’t it?

A. That’s
B. Isn’t it?
C. Grass,
D. Juicy
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V) A person who sells in a shop is a

A. cook.

B. driver.
C. teacher.
D. salesman.

vi) The opposite of ‘increase’ is

A. rise.

B. decrease.
C. growth.
D. progress.

Task 9 3 Marks

Convert the given sentences into passive voice and write in the given spaces.

Example: My mother cooks food for us.

Answer: Food is cooked by my mother.

1) A child broke the toys.

1) Miss Fareeda teaches us English.

iii) Some people grow strawberries in Khairpur.
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Task 10 6 Marks

Read the given poem and answer the following questions.
Try Again

“Tis 1s a lesson you should heed,
Try again;
If at first you don’t succeed,
Try again.
If you find your task is hard,
Try again;
Time will bring you your reward,
Try again;
All the other folks can do,
Why, with patience, may not you?
Only keep this rule in view,
Try again.
W.E. Hickson

Tick (v') the correct answers.
1) The rhyming word of ‘heed’ is

A. hard.
B. creed.
C. solid.
D. find.

i) Which of the following word has similar meaning of ‘reward’?

A. prize
B. work
C. punish
D. penalty
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Write the correct answers.

1ii) Write the name of the poet?

iv) According to the poet, which thing is important for success?

v) Write the superlative degree of ‘hard’.

vi) Convert the given sentence into present indefinite tense and write in the
given space.

Time will bring you your reward.
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Task 11 5 Marks

Write an essay on anyone of the following.

(NOTE: use correct punctuation, grammar and spellings)

» My Country
» My Favourite Teacher
» Environmental Pollution
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Task 12 5 Marks

Write a formal letter to your principal requesting him/her to grant you a sick
leave.

(NOTE: use correct punctuation, grammar and spellings)
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Mathematics

Task 13 15 Marks

Tick (v') the correct answers.
S ol 32 (V) &3 g ol pewrs

1) IfX={a, b}andY ={c, d}, then XnY is
LI XNY 5Y ={c, d}, £ X = {a, b} i
A 0 "
B. {a, b}
C. {c,d}
D. {a, b, c,d}

i) 3x%—x%=

A. 2x
B. 2x?
C. 2x3
D. 2x*

i) If the profit rate for a trade is 2%. The profit on an investment of Rs 80,000 is
e gadlin G C8Y 280000 5 21 2% 7k o ko g )hls S pikon

A. Rs 1,200

s, 1200
B. Rs 1,600

s, 1600
C. Rs 2,000

s, 2000
D. Rs 2,400

s 2400
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Iv) If two angles of a triangle are 30° and 45°, its third angle is
Sl NS (o 2 ) 8 (2] 45° £ B0° (13 m (197 (S b [y

A. 100°
B. 105°
C. 110°
D. 115°

a
Ifa= —14 and b = -2, then b IS

OOy
o 4

oo

vi) If g = 6, the value of x is

a= —14:b = -2 pisw

. X
I i 2 X S = 6 (S

A. 15
B. 18
C. 21
D. 24

vii) Which of the following is a set of Odd numbers?
T S S 1) oﬁlﬁlbucﬁ-ﬂ&s%ﬁ

—— e e N
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viii) If we divide Rs 700 between Ali and Basit with the ratio of 3 : 4, the amount
that Basit gets will be

oo 5 als 3o 3 5 (199085 ek S 2 324 ey £ 5 Ly 700l (ppdn

(o )
A. Rs 200
Ly, 200
B. Rs 300
sy 300
C. Rs 400
s, 400
D. Rs 500
L) 500
.. 8 :
IX) 75 S percentage is
8
o p (S S
A. 22%
B. 32%
C. 42%

D. 52%
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X) If the combine weight of 3 balls is 120 grams, then the weight of 5 balls

would be
220 /835 /it 5 5 BT 4S5 120 335 JadS r ol /03835 /3 i 3 (b
e (39 el
5

A. 180 grams
45180

B. 200 grams
41,8200

C. 220 grams
41,8220

D. 240 grams
41,5240

xi) If the radius of a circle is 7 centimetres (m = %), its area will be
3 . of = ~ 22 T . . . .
S 2l (22 01 2 (T = ) ] s e T i 92§ 13 S

A. 144 square centimetres

St et )97 144
B. 154 square centimetres

St et )97 1 54
C. 164 square centimetres

St gt )97 1 04

D. 174 square centimetres
St gt )92 174
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xii) IFF = {5, 6, 7} and G = {6, 7}, then F—G is
HIF-G5G={6T7}¢F={56 T} pisw

A. {5}

B. {5, 6}
C. {6, 7}
D. {5, 6, 7}

xiii) Fraction of the decimal number 4.5 is
jMM‘)L&}?‘lSMléua
A.

N[O NI NIl N|W

Xiv) =5 X (6 —9) =

A. 10
B. 15
C. -10
D. -15
3 -6
XV) = +—— =
4 2
1
A —-
2
1
B. —-
4
3
C. —-
2
3
D —-
4
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M

Find the square root of v 0.36. Show steps.
)3 N 3, gkt S0 g 92 V0. 36

Ans.

Task 15 > Marks

If 15% of Guava is 45, find the total number of Guava? Show steps.
0 okt s b o (g ) (el Q@T45 St 2 g 32 i 15 7y
SIS Mo

Ans.
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Task 16 3 Marks

A trapezium has a height of 4 centimetres, and the length of its two parallel sides
Is 8 and 6 centimetres respectively. Find the area of trapezium. Show steps.

. e ¢ - - T 3 ° . £ . -
8 g 5 mSd 2 ol (Gl (0 £ B s S 4 Sl o g g Sy e il w S
SIS Nt 30,5 phrs polnl o G g s y3m il 5 B s S O
6cm

4cm h

8cm

AnSs.
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Task 17 3 Marks

Consider the following pie chart which is showing percentage of games liked by
the pupils of a school. Answer the following questions.
Cricket = 50%, Hockey = 20%, Football = 20%, Swimming = 10%.

(ol p oy i 2 03,5 Juib g o] S g o S s 8 Sl oy S et
N S5 b g 55 . BT S5 (5)SG3
10 %= 55 5 A/ gSolms 20 % =Jls b 20 %= 45l 507 = s

Swimming
10%

Football
20%

Cricket
50%

1) What is the percentage of cricket liked by the pupils of a school?
T 2 555 7 ()1 D M S e S 4

AnSs.

i) Find the angle representing cricket?
S s RS o par s p S S

Ans

1ii) Find the angle representing football?
S peha NS 7 oo S pb S LS

Ans.
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Rough Work
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Science

Task 18 10 Marks

Tick (v') the correct answers.
AL 2 (V) 23 5 ol peoes

1) Which of the following is present in an animal cell?
P sigh 39790 g e 22 0)35r o (st

A B C D
Cell wall Centriole Chloroplast A large vacuole
s o U i T o9 339 S

1) The function of the vascular tissues in plants cell is to
P 2 5 il Jeoals 35790 p S 2 (50

A B
transport pollen grain. manufacture pollen grain.
B &yl 2 S (W b5 )l S ol
C D
transport food and water. manufacture food and water.
by oy sl 2l s A by sk s e Sb

i) Arthritis is caused due to the deficiency of
LUl S S o o i )]

A B C D
fats. fiber. water. protein.
",fj ’Jﬁ‘u '@b “ ’Cﬁfjx
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iv) Following diagram shows the human digestive system. Which type of acid is
present in part X?

Bl b 29250 Sy 2 G345 4 X o> B (2 i & b Sl g i et

A D
Hydrochloric acid  Sulphuric acid Nitric acid Citric acid
S| 5 ) kS )08 el 5 ) g o] 5 e 5

v) Plants breathe through very fine pores are called
b1 It g3 ¢ g 8 ] IS bl s 2 27 (3 pgms (50 plead Ui

A B C D

cuticle. lenticle. stomata. epidermis.

N e oot g o]
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vi) The given diagram is of a white blood cell. Its function is to
Pl 25 b Al o (47 2] e e J3 S

S )
el
q ~

A B " C D

kill germs. carry oxygen. carry nitrogen. stop bleeding.
By sl %MT t%U’Jbe .35))%;0)

vii) Which of the following is a male reproductive part of a flower?
I P 530 pias)ls a5 5 3998 4 U5 o st

A B C D
Petal Sepal Carpel Stamen
o U JlS (]

viii) Following diagram shows the process of
Pl 38l S50 A S Js pir el S5 Gt

A D
boiling. melting. solidifying. condensing.
S /o & o 3 57 3 e il
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iX) The force that resists the movement of any object is called
Pl 5250l S8y i (o e ) 58]

A B C D
work. tension. friction. gravity.
~ﬁ p 3 .“‘: .Q@ @ :. .uE

X) Following diagram is of a thermometer. It is used for measuring
N Gl A s Szl gal BT 2 il 5 pnai |55 Gt

A B C D

mass. length. distance. temperature.
o Pl o g M
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Task 19 2 Marks

Write the name of the following parts of an animal cell.
SV (o 39790 p St 7 (195l o5 e

Task 20 2 Marks

Explain the role of red blood cells in the human respiratory system.
yﬁwwj%g)bﬁ%goyyjq%géjﬁ%@yé)bi&faugul

AnSs.
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Task 21 2 Marks

Describe the importance of skeletal system in man.

Ans.

Task 22 2 Marks

Write the atomic number and mass number of the following atom.

Atom | Atomic Number Mass Number
Helium
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Task 23 2 Marks

Explain the following types of force.
N ol )95 o3 S
1) The force of gravity
295 9)ls b s

i) Tension
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Task 25 3 Marks

Write any three problems caused by the deficiency of vitamin.
SNt 5 5 505 5 7 L 7 0

i)
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Task 26 2 Marks

Explain following types of asexual reproduction in plants.
S Sy o (s il iy el Jo3 o p (35

1) Through cutting
b s

i) Through grafting

End of Paper




